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(5)RET DHAMN SHTRIL FLH SHBELETOER Le=| 332 mm (Le<L/2)= [0.332 |m
4. BREEE GEOMAUT2HEEORAALTHH)
(1) REHAKFRE Kh=| 2.0 |
(2) REtARERE Kv=Kh/2=| 1.0 |
(3)FEAKFHES Fh=Kh-W-9. 8=| 4508.0 IN
(4) BERMEHBER Fv=Kv-W-9. 8=| 2254.0 IN
(5)7 wh—kIL kDBIHEH Rb= %H?ijﬁmg = 1821.3 N
(8)7 v h—HKIL FOEAMH Q=Fh/N=| 1121.0 IN
(T oh—HRILMETBHAE
O3RN E o=Rb/A=| 23.4 |MPa< ft=176. 4MPa
@t AKIE T=0/A=| 14.4 MPa< fs=132. 3MPa
QBIREBAMERBICRTHHE fts'=1. 4ft-1.6 7| 223.9 MPa
Ff2L. fts' SFtO & Efts=fts', fts' >ftOE Efts=FtTHEDT fis=| 176.4 MPa
o=/ 23.4 [ WPa < fts=| 176.4 MPa
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3. HHRFET @138
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(5)RET DHAN SHTRIL FLH SHBELETOER Le=| 332 mm (Le<L/2)= [0.332 |m
4. BREEE GEOMAUT2HEEORAALTHH)
(1) REHAKFRE Kh=| 1.5 |
(2) REtARERE Kv=Kh/2=| 0.8 |
(3)FEAKFHES Fh=Kh-W-9. 8=| 3381.0 IN
(4) BERMEHBEN Fv=Kv-W-9. 8=| 1690.5 IN
(5)7 wh—kIL kDBIHEH %H?ijﬁmg = 1236.7 N
(8) 7w h—HRIL FOEAWH Q=Fh/N=| 845.3 IN
(T oh—RILMETBHAE
O3RN E o=Rb/A=| 15.9 IMPa< ft=176. 4MPa
@t A HE T=0/A=| 10.8 MPa< fs=132. 3MPa
QBIREBAMERBICRTHHE fts'=1. 4ft-1.6 7| 229.7 MPa
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o= 15.9 | MPa < fts=| 176.4 MPa
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